Addal247

Directions (1-5): Study the following information carefully and answer the questions given below:
FRaferfea s 1 sargEs degge fiforg s 7= g o it F s dfom|

Fourteen persons sit in two parallel rows. A, B, C, D, E, F, G sit in row-1 facing north and P, Q, R, S, T, U, V sit
in row-2 facing south such that the persons sitting in row-1 faces the persons sitting in row-2.

V is the only immediate neighbour of S. T sits 2n to the left of V. Two persons sit between T and the one
who faces F. A sits exactly between B and C who sits diagonally opposite to R. A does not face V. P faces D. G
faces the one who sits just right of U. E does not face T.

F1ag AT &l FHETA 4hal § 95 81 A, B, C, D, E, F, G Ufth-1 ¥ ST AT A @ F¢h A< P, Q R, S, T, U, V 4T=F-
2 ¥ AT T A 7@ Fleh T8 TR 96 g (o Ufh-1 # 9 =i=e fth-2 § 9 =ihal it 3% 379 2|

V, S T THHATS Hehed® ST g1 T, V & ST ST T &A1 92 937 gl T 3% ag =ATh S F &t A 3749 &, %
T T ARE 95 81 B 3T C 3 31 a9 § AT g 4T C, R % Tashvia: o< a1 g1 A, VT X 379 95! gl P,
D #FT T 379@ 2| G, U % 31 a4 o5 =af<h it A 370 gl E, T T 9% 39 78! g

Q1. Who sits second to the right of the one who faces B?
B it S I7@ =ATRF F TS 3T AL TATH G T 43T 57

(@Pp

(b)Q

(AR

(d)s

(e)U

Q2. Four of the following five are alike in a certain way and hence form a group. Which of the
following does not belong to that group?

FRafifea o= # & 9 o (S 7% § 0 99 § iR 39T v a9qg a9 8| feifea d a s sa g
¥ qefeT 75l 87

@V

(b) A

(U

(d) G

(e)F

Q3. The numbers of persons sit between Q and R is same as the numbers of persons sit to the left of

QT R A A e Frabear, % s A 3 w1t £ s v 3
(a) G
() D
(U
(d) C
() V
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Q4. If U is related to Q in a certain way and B is related to F in the same way, to whom is A related?
73 U v [Afea ahs & Q & dfaa § 3w St a<g B, F 4 gafaq g, av A Fraa g&faa g

(@) E

(b) D

(c)B
(d) F
(e)C

Q5. Which of the following statements is true?

R s T aA-ar T §?

(a) P sits diagonally opposite to F/ P, F & fa#oia: Aadia a=1g

(b) More than one person sits between D and G/ D 3fi¥ G % &= U% & S({IF ATH S &
(c) P does not sit just left of U/ P, U & &% a0 A 2T &

(d) F sits at one of the extreme ends/ F € T R U2 93T 8

(e) None is true / FTs St T 51

Directions (6-8): In these questions, relationships between different elements are shown in the
statements. The statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate answer:

T I H, T A B gt F = dey g9iT 1T g FuEl F arg fAewd fRw e §) Re T wuEt F e
At 1 sremaw Fifvmg st e sae w1 391 fifvm|

Q6.
Statements: P>Q=Rz2S<TU=5>W
Conclusions: .P>T ILW=P

FYT:P>Q=R25<TU<S>W
et LesT ILW<P
(a) If only conclusion I is true./ 7% Fael FohY | 9 &
(b) If only conclusion II is true./ I(% Faer A [ §e7 &
(c) If either conclusion I or Il is true./ TT< 3T qT FeFT [ AT [ T &
(d) If neither conclusion I nor Ilis true/ IR A AT AT [T T 1 T ¢
(e) If both conclusions I and II are true./ < T [ 3 11 T 9T

Q7.
Statements: M=N=0>G<Q=R 5<R=T

Conclusions: . G<T ILG=2R

FYT-M=N<0>G<Q=<RS<R=T
Fepd: 1L g<T ILG2R
(a) If only conclusion I is true./ 7% e AR [ 77 %
(b) If only conclusion II is true./ T Faet A= 11 T %
(c) If either conclusion I or Il is true./ Tf= 3T qT fAew [ 47 I 77 %*
(d) If neither conclusion I nor Il is true./ AR T AT AT [T ST LI AT ¢
(e) If both conclusions I and II are true./ If% Ay [ 3T 11 T T &
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Q8.
Statements: B2Cz2D=E>F<G<Y<H
Conclusions: . C< E ILG=D

PYT:BE>2C2D=E>F<G«<¥Y<H
Pt o<k ILG<D
(a) If only conclusion I is true./ % Fa<r g [ A7 &

(b) If only conclusion II is true./ Tf% Faer ARy [1 T g

(c) If either conclusion I or Il is true./ I AT AT ASFT [ AT TT &

(d) If neither conclusion I nor Ilis true./ AR T AT HeHFT [T T 1 T 5
(e) If both conclusions I and II are true./ If< Ay [ T I AT AT &

Q9. In the number ‘748523971’, how many pairs of the digits have the same number of digits
between them (both forward and backward direction) in the number series?

H&qT 748523971 H, 3!  farae AT & o= (3T 3T e 1 fermeit /) It §F &y § rast s S+
HE&IT @ H BT 57

(a) Four/ =X

(b) Two/ &T

(c) One/ T=

(d) Three/ T

(e) More than four/ 9T & Tfers

Directions (10-12): Study the following information carefully and answer the questions given
below:

FRafriea s #1 sargEs seaae fiforg i 7= fag 1 s % S &S|

Q is the only daughter of R who is the mother-in-law of U. S is the paternal grandfather of Q’s nephew. S has
two sons, one daughter and no siblings. X is the sister-in-law of T. U is the mother of Y who is married male.
W is the uncle of T who is not a daughter of V. P is the aunt of V who is sibling of Q and W.

Q RFT zaarct TR & aaT R, UFT ATH 1S, Q F ASI/TST 7T IT&T g1 S F < [, T [T 2 3T F1 Agrae 7al 2|
X, T #t foeez-2a-at 81 U, Y T |1aT & 997 Y [@ared 129 g1 W, T &7 sidhe g 99T T, VAl T 75l g1 P, V&l e
g TAT Q X W T Hgrax V gl

Q10. How is Q related to Y?
Q Y & e whe g e 872
(a) Mother/ H1dT

(b) Aunt/3tie

(c) Uncle/3shet

(d) Mother-in-law/ 19

(e) None of these / S7H & &< A&l
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Q11. Which of the following is true?
Auffea g afT-araa g?

(a) Vis the daughter of S/ V, SFT =T &

(b) Yisson of X/ Y, XFT A5

(c) W is the P’s nephew / W, P &T TisIT/ATSIT &
(d) Sis the U’s father/ S, UFT fUaT g

(e) All are true / FHT T &

Q12. Four of the following five are alike in a certain way and hence form a group. Which of the
following does not belong to that group?

FRaffeT o= ®§ & 9 o [t 8% & & 99 § ik ofee s aqg a9 8 Refea d a s sa agg
T Gefaa T2 32

(@Y

(b) T

(c) P

(d)w

(e)S

Directions (13-17): Study the following information carefully to answer the given questions:

R T w1t & ST A F forg e Sy st exragas st i

Ten persons N, O, P, Q,R,S, T, U, V,and W, are living in a five-story building such as ground floor is numbered
as 1, above it is floor 2 then top floor is numbered as 5. Each of the floors has 2 flats in it viz. flat-X and flat-
Y. Flat-X of floor-2 is immediately above flat-X of floor-1 and immediately below flat-X of floor-3 and so on.
In the same way flat-Y of floor-2 is immediately above flat-Y of floor-1 and immediately below flat-Y of floor-
3 and so on. Flat-X is in west of flat-Y.

Two floors gap between S and O but both live in different named flat. S lives just below P but not in the same
named flat. O neither lives 4t floor nor 5t floor. V lives in west of T who lives just south-east of N. U lives
just above W’s flat. Q lives north of R.

A ATEN, 0, P, Q R, S, T, U, V 3T W T T HISTAT THILA H g T8 & 9T S0 | ad &l 1 & &7 § FHH{hd
TohaT T €, TH SUT /oo 2 € TAT FaH ST HIoTd &1 5 o & H FHHITHd hAT AT gl T Hioret 9¢ 2 FAS
FATT FAS-X 3T FoAe-Y gl HIore-2 FT FAe-X, HOA-1 o FAS-X % Seh U g TAT HI9TA-3 F Foe-X o Srh A9 &
T THT TRTT AN AT g1 TEHT T HISTA-2 FT FAe-Y, HIOA-1 3 Foe-Y o 31 FUL g TAT HIoA-3 & FAS-Y & 31
A3 & s Zeft e o o 31 X, WY ¥ ¥ )

S 3T O &= ST HISTAT T AL g AT QAT STAT-STAT ATH ATA FAS H T2 g1 S, P o ST A= LT g ATohed TH T
ATH AT FAC § Al Tgal gl O 7 AT =12t §Iorer 9% gt § A 7 gf Ti=dl Hioret 9% Tgar gl V, T 3 I # Tgar
g TAT T, N o 3t Ze0-9d | ¥gaT gl U, W Ffe % 31 39% T2al gl Q R 3T H TZaT 2

Q13. Who among the following lives in Flat-X of 2nd floor?
fRafafea & 9 f19 @l v« F ®e-X |/ 'ar §?

(@Pp

(b) S

(Vv

(dR

(e) None of these/ TAH T FS ngf
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Q14. Which of the following groups live on an even numbered floor?
Rt & & F19-a7 a3 a7 9ea1T areft /o 9% @ar 82

(@Ss,T

()R, U

(@©PQ

(dvw

(e) None of these / TH ¥ IS AT

Q15. In which of the following flat-floor does R lives?
R Fafcfea 3 o e e ¥ sik R s wEar 2

(a) Flat-Y, Floor 3/ %ie- Y, #foret 3

(b) Flat-X, Floor 1/ %fe- X, ot 1

(c) Flat-X, Floor 2/ %ete- X, Horet 2

(d) Flat-Y, Floor 4/ %ie- Y, §Toret 4

(e) Flat-Y, Floor 1/ %te- Y, ot 1

Q16. How many floors are between Q and the one who lives just below T’s flat?

Q 3T g ATRE ST T & TAC % 31 A1 TGAT §, T A1 [ohae{t HISTA &7
(a) One/ TH

(b) Three/ &

(c) Two / &1

(d) None / FTs 75t

(e) None of these / TAH H FIs gl

Q17. Four of the following five are alike in a certain way and hence form a group. Which of the
following does not belong to that group?

FRaffeT o= ® & 9 & RS 7% 8 & 99 § ik 9y v a9qg a9 | fefea d§ a s sa aqg
o g e gl 872

Y

(b)T

(c)S

()W

(e)O

Q18. If we form a four-letter meaningful word by using the first, second, third and sixth letter from
the left end of the word ‘FELICITOUS’, then which of the following will be the second letter of the
meaningful word thus formed. If more than one word is formed mark Z as your answer. If no
meaningful word is formed, mark X as your answer?

7% g ‘FELICITOUS’ ST5 & STU ®IX & g, T, TR 3T & AT T ITART FHTh AT AL T AT 7
TG 8, AT Refefea § & F9-97 & S8 T a9 90 9758 HT TaU TG FRT? IQ TH § AT o8 q9q
&, A1 Z & I I & §T | ATha AT ITS FIS GTAF A6 TG a9aT g, A X T (99 IGL & €9 | Hfohe
Fifsg

(@F

(b) 1

(c)E

(d) X

(e) Z
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Directions (19-22): Answer these questions based on the following information.

et st  sram T i F Sae

In a certain code:

“happy not bad good towards” is coded as - “xa pb ut nq tf”

“good smile sorrow towards” is coded as - “ut tf rd 1k”

“smile happy not sad” is coded as - “pb rd xa zh”

“bad sorrow towards” is coded as - “nq lk ut”

= fRfaa %< H:

“happy not bad good towards” #T - “xa pb ut nq tf” % ¥9 H Feag FHATTATE
“good smile sorrow towards” FT - “ut tf rd Ik” % €9 § Feag FFaT 1T g
“smile happy not sad” FT - “pb rd xa zh” % ®9 § Fedg AT TATE

“bad sorrow towards” #T - “nq Ik ut” & ¥ H Fedg AT AT g

Q19. What will be the code for “smile” as per the given code language?
€Y TE 5 ATHT F FAT “smile” F T gz FAT T

(a) xa

(b)rd

(c)nq

(d) pb

(e) None of these/ TAH | FIs A5l

Q20. What will be the code for “not” as per the given code language?
2T TS FE ATHT F SAETE “not” F e Hie .41 gIm?

(a) tf

(b) nq

(c) pb

(d) xa

(e) Either xa or pb/ IT T xa a7 pb

Q21. Which among the following word is coded as “nq” as per the given code language?

< TS FE ATHT F SAqET Aeferied § & F9-97 9751 “nq” F T F F2dG g7
(a) good

(b) sorrow

(c) bad

(d) happy

(e) None of these/ TAH H &< AG!

Q22. What will be the possible code for “happy good” as per the given code language?

Q1 TS T ATYT F SITHT “happy good” ¥ forg E¥1fa e =T R m?
(a) xa tf
(b) rd tf
(c) xa pb
(d) nq lk
(e) Ik zh

6 I adda247.com/defence | www.sscadda.com www.bankersadda.com

www.adda247.com


http://adda247.com/defence
http://www.sscadda.com/
http://www.bankersadda.com/
http://www.adda247.com/

Directions (23-26): In each of the questions below, some statements are given followed by
conclusions/group of conclusions. You have to assume all the statements to be true even if they seem
to be at variance from the commonly known facts and then decide which of the given conclusions
logically follow from the information given in the statements:

F=r o 1o w3 v § 59 w7 RRu g § e are 3 Reed /At s aug Rar = @) srawr ot st iy
T WTAAT &, WA g 9 FATq a1 & F/a Foiia gra gt i e a3 e § & g o et § & #=-a7 Ao
FAAT | & TS FATAHRTA HT AT T & ST FLAT g

Q23. Statements: Only a few apple is orange.
Some orange is grapes.

No grapes are banana.

Conclusions:

I. Some grapes are not apple.

II. All apple being banana is a possibility.

FIF: A T T, A g

Fg A, T B

FIS O, FATET Aal gl

A

. F® o, ToO A5l 5

1. AT UCI o FATHT B T TEATAAT 2

(a) If only conclusion I follows./ TT& e MY [ STEL FLAT 5§

(b) If only conclusion II follows./ T{% Faer TR 11 FTHLOT HTAT &

(c) If either conclusion I or II follows./ TT< 2T T Fes [ JT 11 SIEL0T AT &
(d) If neither conclusion I nor II follows./ If< 7 AT MR [ T 2T 11 LT FAT &
(e) If both conclusions I and II follow./ 7% eF | i< 11 T AT FXA &

Q24. Statements: All cat are dog.

Some dog are not lion.

Only a few tigers are lion.

Conclusions:

[. All cat being lion is a possibility.

I1. All tigers being lion is a possibility.

FI: AT Fe, ST |

T ST, AAT A5 2

AT T, T3, AT &

e

L. TT e o ATAF g1 il FEATEAT 2

I TT TSI % ATAT g il GFATAAT B

(a) If only conclusion I follows./ T Faer et | STHLIT AT %

(b) If only conclusion II follows./ 7% Faer fAewy 11 THLOT h AT g

(c) If either conclusion I or II follows./ % =T a7 s [ AT 11 THLIT HTdAT g
(d) If neither conclusion I nor II follows./ & 7 a7 AT [ 7 & 11 AT FLaT ¢
(e) If both conclusions I and II follow./ 7% e 1 i< 11 ST & TETT R d g
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Q25. Statements: Some pen are pencil.
Only pencil are eraser.

No pen are marker.

Conclusions:

[. Some eraser are not marker.

II. Some eraser are marker.

I T ﬁ_rf, ﬁﬁﬂ%l

et YT, LA B

FTE U, AT A58 2|

e

L. % 2SI, AT AR 2

L% 349, AT &

(a) If only conclusion I follows./ TT& Fae MY [ SATEL FLAT S

(b) If only conclusion II follows./ T% Faer w11 STHLOT FIAT &

(c) If either conclusion I or I follows./ IT& =T T e [ JT 11 SIEL0T AT &
(d) If neither conclusion I nor II follows./ If% 7 AT MRS [ T T 11 LT FAT &
(e) If both conclusions I and II follow./ 7% e I i< 11 AT ST FXd &

Q26. Statements: Some book are not magazine.
Only a few magazine are newspaper.

All newspaper are journal.

Conclusions:

[. All newspaper are Magazine.

I1. All newspaper being book is a possibility.

FAT: T I, AT A2l 2l

AT Feg HISA I, =LAUIL B

THT FUIL, A |

e

L T =9, HITS(1 2|

11 Tt =TI o G g ol FATEAT B

(a) If only conclusion I follows./ TT& Faet et [ STHLOT AT g

(b) If only conclusion II follows./ 7% Faer fAewT 11 THLOT AT g

(c) If either conclusion I or II follows./ % =T AT A= [ AT 11 THLT HTdT %’
(d) If neither conclusion I nor II follows./ < 7 AT AT [T T 11 LT HTAT g
(e) If both conclusions I and II follow./ 7% e 1 i< 11 ST & TETT R d g
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Directions (27-31): Study the following information carefully and answer the questions given
below:

et ST 1 samg@® sreag= iy sii A= fag 17 ot & s difSmg|

Nine persons A, B, C, D, E, F, G, H, and I were born in different months: January, March, April, May, July,
August, September, October, and December of the same year, but not necessarily in the same order.

C was born in a month with 30 days. There are two persons born between C and I. | was born immediately
after a month having 31 days. B was born in a month having 30 days. B was born immediately before H. D
was born three persons after F who is not the oldest. A was born four months before E.

AT =~ A, B, C, D, E, F, G, H 3T | T 70 U &I T o AT-3T He |l SIH- ST, 7T, 1A, T, TS, ST,
oI, Srerga ST feawarT o geir o, Toheq Saearh 12 o6 ST 3 | gorm 21

C T ST/ 30 ToT aTer A H oA &T1 C 302 1 3 1= <1 = f<h 9=7 gl 1 7 57v 31 fai arer /g1 & 3 a1e gar
oITI B T STeq 30 a1 aTer A5 9 § g3 AT B T S0 H & 21 T2l gl 27| D T S+ F & o+ =7 {<h a1 gt o a=m
F 99 92T A5l g1 A FT S+ E F 91 T4 Tgol gafr 9Tl

Q27. Who among the following was born in August?
fRafefea & & & srreq § ST gem an?

(@D

(b) C

() F
(d) G

(e) None of these/ T7H | ®ilE A&l

Q28. How many persons were born between F and I?
F i< 1 % &= fofaer = e ST g0

(a) Three/ T

(b) Four/ =T

(c) Two/ &T

(d) One/ T=

(e) None of these / TH & FIs AG!

Q29. Which of the following statements is true?
fRaffaa d as-ar s a2

(a) F was born in September/ F &T ST=q IEEEEE: EEURI
(b) H was born in October/ H &7 ST7H 3TeF¢aX ) gAT AT
(c) G was born in May/ G WWT’%&'@'W a7

(d) D was born in December/ D &T SI+H IEGERS ﬁgarr a7
(e) None is true / & AT AT AL &
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Q30. The numbers of persons born between E and G is same as the numbers of persons born
between and .

EdfR GHfiw derguaaieai firdear, s ¥ oftwr dar gu =i it st & aeac gl

(@A D

(b)LG

(cJCH

(d)B,A

(e) None of these / THH ¥ IS AT

Q31. Who was born two months after E?
E F S F T WG a1 Fhaant ST gam?
(@)l

(b)B

(@cC

(d)D

(e) None of these / TH H &% A5l

Q32.Find the odd one out?

e & & 3@ 19 Ffer St o=y & forer g
(a) LRUK

(b) TGJS

(c) UDFT

(d) OKNN

(e) BPSA

Directions (33-35): Study the given information carefully to answer the given questions.

2 TS TR FT AT AT i orT ST A 7 75t o S &Sl

There are seven persons i.e. A, B, C, D, E, F, and G of different heights. B is taller than D but shorter than C. F
is taller than B, but not the tallest. Only four persons are shorter than G. G is shorter than C. E is shorter
than B, but not the shortest. D is neither the shortest nor 3rd shortest. Third highest person height is 170
cm.

S-S AFATE o AT A< AATA A, B, C, D, E, F 3T G €1 B, D & &4T g oo C & Fler 81 F, B & &4 g, oAfehet
qIH FAT Al gl Fhae A< Ah G TGl 8l G, CH BT gl E, B H FIaT 8, AT 99 YT A5l g1 D 7 ar aH grer
© ST T ST A9 qa BT gl ATHL GaH AT Aol Ik =l da1s 170 FHT Bl

Q33. Who among the following is the fourth shortest person?

Ruffeg & a S aea Seratke AT 8?2
(a) F

(b)D

(c)B

(d)G

(e) None of these TAH T FS vT@
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Q34. If the F’s height is 50cm more than G and the difference of height between E and F is 100cm
then what is the possible height of B?

7t F it ST, G T =1 & 50 it stfdrs § T9T E i F i F=12 F = =7 siqx 100 &+ g ar B it @wrfaq
$rE T AN

(a) 174cm/174 Tt

(b) 118cm/118 THT

(c) 180cm/180 HHT

(d) 135cm/135 |4t

(e) 119cm/1198Ht

Q35. How many persons shorter than the one who is just taller than E?

E & 3% o/ =t 9 safRe e €7
(a) Three/ 9

(b) One/t=

(c) None/ FTs gt

(d) Two/ =T

(e) None of these/ TAH | FIs A5l

Directions (36-40): Study the following information carefully and answer the questions given below.
et s 1 sargE® segae fiforg 3w /= R e it F s &)

Seven persons M, N, O, P, Q, R, and S sit in a row and all of them face towards the north direction. Each of
them likes different fruits viz. Apple, Banana, Mango, Orange, Grapes, Pineapple, and Watermelon. All the
information is not necessarily in the same order.

R sits third to the right of O who likes Mango. R sits second to the left of Q. The one who likes Banana sits
at one of the extreme ends of the row. P sits third to the right of the one who likes Grapes. Only two person
sits between N and Q. R doesn’t like Watermelon. S sits fourth to the left of R. The one who likes Apple sits
second to the right of N who likes neither Watermelon nor Pineapple. S doesn’t sit to the right of the one
who likes Banana.

AT =<k M, N, O, P, Q, R, 3T S U U<k H o g 3T T T & I QT &l AT gl ITH & T4 I TAT-3eA
A STH U, HeAT, ATH, HALT, S, AATATH T TS THE 5| TR Al 1o THT STTAHRTLT SHT F7H | gl

R, 0 % TTE AT AH< TITH TT S3T g TAT O I ATH T893 gl R, Q F TS A L TATH I 95T gl HeAT THE il ATeAT
=f<h GT=F % et T BT 9T 93T 81 P, 31X T8 FX a1l SAT<h o &1 AT qrEL e\ T 9T g1 N 3T Q F 1=
HAA I SATh 96 gl R T TS THE el g1 S, R F TS 3 A TATH UL 937 5| U THE H ATAT oA1<h, N o 218
AT TEL T T A3T g AT N &I T Tl TGS ST T & TAAEH THE g1 S, FeAT THE FI AT ATk o A0 Al 95T

2l

Q36. Which of the following fruit does P like?
P &1 fAfafea § & S 9-a1 o 1He 872

(a) Banana/ T

(b) Pineapple/ SATATH

(c) Apple/ &=

(d) Grapes/ 3T

(e) None of these/ TAH T FS H@
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Q37. Who among the following likes Watermelon?
fFefrfead a ffa ITEe T ?

(@S

(b) M

©9Q
(d)P

(e) None of these/ T7H & FIE Agl

Q38. Which of the following pair sit at the extreme ends?
et & & -1 TH Rl R s ?

(a) M, N

(b)QP

() QN

(dM,Q

(e) None of these/ TAH | FIs A5l

Q39. Which of the following is true?
Raffer d aa-arRm T g?

[. P sits 2nd to the right of the one who likes mango

[I. 0 and M are immediate neighbours

I11. S sits 2nd to the left of the one who likes Grapes

I. P, ¥ THE X ATeT SAT<h o QT8 A gAY A1 T H3T 5
I1. 0 3T M fHsheaw qeet &

111 S, 3T THE %A 7ol 1<k & AT AT THL TATT 9L 93T 5§
(a) Only I/ &<t |

(b) Both II and 111/ IT 3f¥ 111 4T

(c) Only 111/ &< 111

(d) Both I and II/ I 3fI¥ II 14T

(e) Only I/ Faer 11

Q40. What is the position of the one who likes Apple to the one who likes Banana?
HAT THE HLA AT ATRE § G THS FHLA AT A [<h HT ST AT 52

(a) 2" to the right/ aTE A T

(b) Immediate right / 1% a0

() 4" to the right / TS 3T =TAT

(d) 2" to the left / TS 3 TAT

(e) Immediate left/ &t 910
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Directions (41-46): What will come in the place of question mark in the following number series.

FRaferieEa g gt § wrams Rt F s o= srem

Q41.361, ?, 920, 1045, 1109, 1136
(a) 873

(b) 1090

(c) 486

(d) 704

(e) 1361

Q42.100, 83, 70, 59, 52, ?
(a) 47
(b) 43
(c) 45
(d) 41
(e) 40

Q43.14, ?, 29, 49, 89, 169
(a) 24
(b) 17
(c)19
(d) 27
(e) 18

Q44.2.5, 15, 75, 300, ?, 1800
() 900
(b) 450
(c) 600
(d) 150
(e) 1200

Q45.10, 11, 24, 75, ?, 1525
(a) 300
(b) 304
(c) 302
(d) 306
() 310

Q46. 64, 102, 159, 235, ?, 444
(a) 330
(b) 320
(c) 350
(d) 300
(e) 360
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Directions (47-52): The pie chart (I) shows the percentage distribution of total number of orders
delivered by Twiggy and Xomato together in four different days. The pie chart (II) shows percentage
distribution of total number of orders delivered by Twiggy in these days. Read the following pie
charts carefully and answer the questions given below.

(1) Total orders (I1) Total orders
delivered by Twiggy delivered by Twiggy
and Xomato together =540
=720
m Thursday
 Friday
m Saturday
 Sunday

qTE AT (1) AT AT-31T &A1 | Ranft 3w et g U av Rettaw fohu v iy $i7 Fo1 d@edr 1 qiaad
feraeor Fertar g1 urs =Are (11) =7 faei § Rartt gry fewiaw [y T sit€x 6t et Jed1 &1 aiderq feraeor 29T g
eferfea uTs =T &1 &1 § UE ST A= U 70 9 3 39T ||

() et 3t e @R () et garr B
s Ay e e o fFe v Fa S = 540
Fa ST = 720
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Q47. Total number of orders delivered by Xomato on Monday is 25% more than the total number of
orders delivered by Twiggy on Thursday. If the average number of orders delivered by Xomato on
Monday and Tuesday together is 95, then find the total number of orders delivered by Xomato on
Tuesday?

AT T AT g FReia e 17 A€ it Fo F&T, Tea # Raft g fRsfiax g v i€z i g« wem
" 25% rfare 81 Tf Twem s dvrerae st s g fRstra favg 1o st i siera |t 95 §, a S iy
e g fRetiax f o st it ot T s i

(a) 45

(b) 55

(c) 35

(d) 65

(e) 75

Q48. Total number of orders delivered by Xomato on Saturday and Thursday together is what
percentage more or less than the total number of orders delivered by Twiggy on Thursday?

ATRET o [Ea F e Faer g Retax g 1w StS f For de1m, TEar &t farft grr fReftax fFg
T AU A Fo1 G | fFaw wiera sl arFw 82

(a) 45%

(b) 20%

(c)35%

(d) 15%

(e) 25%

Q49. On Sunday, 60% and 5/9th of the total orders delivered by Twiggy and Xomato are returned
by the customers respectively, then find the difference between the actual number of orders
delivered by Xomato and Twiggy on Sunday (actual numbers of orders means all orders which didn’t
return)?

e #i, Raft sie sier g Refiax g 1 gt SiiE< & & F9eT: 60% 37T 5/99T ATgaht g1 AT« {36y ST
%, T A &t et S fRRasft grer fewfa< fhg g SiS< i areatas G&Ar & 1= S{a< F1q oy (St
eI GEAT & 7 § F THT SAS ST ATIH Al 31Y)?

(a) 34

(b) 16

(c) 28

(d) 42

(e) 24

Q50. The total number of orders delivered by Twiggy and Xomato together on Monday are 38 less
than that of on Saturday. If the average number of orders delivered by Xomato on Monday and
Wednesday is 80 and the total number of orders delivered by Twiggy and Xomato on Wednesday is
in the ratio of 1:4, respectively, then find the total number of orders delivered by Xomato on Monday.

HHET T Raeft st T g v ary Refiax g g st i 3o g, affar & Reaft s i g s
Ty feefiax g g AiET it T g&aT & 38 F 81 TS AT iR FEaETE HT irAer g feeha g g s it
S q H&AT 80 g S gEa &l RRarfT sk Fer g e fohg g ST it Fof 9&aT 9T 1:4 F AqUTA A 3,
AT FIHET & AT g et fohg 10 sifS < it Seam a1a )

15 I adda247.com/defence | www.sscadda.com | www.bankersadda.com www.adda247.com



http://adda247.com/defence
http://www.sscadda.com/
http://www.bankersadda.com/
http://www.adda247.com/

(a) 40

(b) 25

(c) Can’t be determined / &R w8t ST ST @
(d)90

(e) None of these / T7H & FI< A5l

Q51. Find the ratio between the total number of orders delivered by Twiggy on Thursday and
Sunday together and the total number of orders delivered by Xomato on Friday and Saturday
together.

TRAT 3T TR &t T arer fRaft g festia< i e it ot Tt v grma< i e & e
T g1 fRhiaw frg T st i o1 T 3 = sreaTa Jra Fiforw

(a) 26:11

(b) 27:13

(c) 27:11

(d) 27:14

(e) 21:19

Q52. If 7/12th of the total number of orders delivered by Twiggy in day shift on Thursday and 25%
of the total number of orders delivered by Xomato in night shift on Thursday, then find the
difference between the total number of orders delivered by Xomato and Twiggy in night shift on
Thursday is what percentage of the total number of orders delivered by Twiggy and Xomato
together on Sunday?

At TeaT &t fam fit foree § Ranft g feediax g g o S it €&t & 7/127 |7 i &A1 il a it
foree & SrREY g Reftax g 7w ot St it | AT 25% &, AV AT F T it fUwe # Fraey s Ranfy
g1 FReftar g g et AT 3 it o s, TR Y Reft e sty g oo Ay Refiar< v g et Aty
it "t it FohaAT Tiera 872

(a) 10%

(b) 15%

(c) 25%

(d) 30%

(e) 20%

Directions (53-58): The table shows the total songs (cultural and modern) download by two persons
(A and B) in Quarter 1 and Quarter 2. The table also shows the ratio of cultural and modern songs
download by these persons in the given quarters. Read the following table carefully and answer the
questions given below.

A B
Quarters Total Ratio of Quarters Total Ratio of
songs cultural to songs cultural to
download modern download modern
songs songs
download download
Quarterl 65 5:8 Quarterl 55 5:6
Quarter2 80 3:5 Quarter2 a0 2:3

16
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qrfersT # < AR (A &K B) g7 faamet 1 s [iumet 2 # s g 1w 3o i+ (aieswfas s} sy
gertw g €)1 qrfersT # <1 T faarfRat & = =feat g seawie g o wiesiae siv sregfRe et « s

+ft gertar T 81 e arferT &1 seamgE s stegae s = R o e F swc s

A B
ﬁmwﬂlgr mﬂ?ﬁfs'm
e
) |
A O O] 5 A O O] 5
HI BT HI BT
HFUTd HFUTd
Tt 1 65 5:8 CRIEE] 55 5:6
ot 2 80 3:5 femmet 2 90 2:3

Q53. Find the ratio of the cultural songs download by A in quarter 2 to the modern songs download
by B in quarter 1.

TR 2 # A g SR 3 T giesiae Mt it fAATer 1 # B gy seA«re B 1 sregfae fiat & st
BIGEAIEL

(a) 1:2

(b) 1:1

(c)2:1

(d) 1:3

(e) 3:1

Q54. The total songs download by C in quarter 1 are 60% more than the modern songs download
by B in quarter 1. If the cultural songs download by C in quarter 1 are 20% less than those of A, then
find the modern songs download by C in quarter 1 is how many more or less than the cultural songs
download by A in quarter 2.

TR 1 ¥ C g sreaare g 1T o 1[Gt 16 B g ss+die fohT 1T srg e 41 & 60% T8 &
e [Tl 1§ C g eeAaie g 1T Hiewfas T, A T STeAdlE T T ihfae T Y oW § 20%
w9 §, a1 AT 1 9 € 510 seAale g v sy 1, /AT 2 9 A g0 sea«re e g giesfas et
¥ foraw srferes a1 w9 3
(a)3
(b) 5
(c) 4
(d)1
(e) 2
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Q55. The total songs download by A in quarter 3 and quarter 2 are in the ratio of 11:16, respectively.
If the average cultural song downloads by A in quarter 1 and quarter 3 is 24, then the modern song
download by A in quarter 3 is what percentage of the total song download by B in quarter 2
(approx.)?

fRAwTRY 3 S Tt 2 # A g TeAeie fhT 1T 5t T e 11 : 16 F Siqura | 81 IR /ey 1 s it
3§ A G i Eq AieHiae M STSAATE 24 §, a1 f[AATRT 3 § A T eTeaare fhe 1w sggfaes =, _inmgr 2 4 B
FT ERAAIE T T e 11+ 7 FoaaT witrera & (RTs7m)?

(a) 43%

(b) 39%

(c) 31%

(d) 36%

(e) 26%

Q56. Find the difference between the average modern songs download by B in quarter 1 and quarter
2 and the cultural songs download by A in quarter 2.

RATRY 1 3 fAwTRY 2 9 B g7 IRAwle g U i smefAe et s fammet 2 # A g s e g
HICHTAa AT % 1= A AT DI

(a)12

(b) 10

(c) 4

(d) 16

(e)8

Q57. Total romantic songs download by A in quarters 1 and 2 is X+8 and X-5 respectively. If the total
songs (cultural and modern) download by A in quarter 2 is three less than the total romantic songs
download by A in quarters 1 & 2, then find the value of X.

TR 1 3T 2 # A T STSAIE &Y Tq F AHiTeH T HAT: X+8 3T X-5 g1 I e 2 § A g
TRAAIE T T F T (FiEhias < srgfaT) faTgt 1 3% 2 § A g7 Seaaie (¢ ¢ o AA{Tew 1
" A T g, AT X HT AT ATT H

(a) 50

(b) 35

(c) 20

(d) 25

(e) 40

Q58. Total modern songs download by B in quarter 1 is how much percentage more or less than the
total modern songs download by A in quarter 2?

AT 19 B g ersa«ie fahg q et stregfae s, fawmat 2 # A g ereaere g q et strggfaes e & fvae
giaerd STTer a1 #7 87

(a) 25%

(b) 40%

(c) 32.5%

(d) 33.33%

(e) 16.67%
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Directions (59-64): What approximate value should come in the place of questions (?) mark in the
following questions.

Rurferera a1 § swaras R (2) % S0 9 4T SAETET /I ST 91ieu?

154.89

Q59. ——— + 32.07 = 169.03 -7
10.99

(a) 142
(b) 92

(c) 112
(d) 122
(e) 102

Q60.2.99 x 15.99 + 3.99 x23.04 =99.93 +?
(a) 40
(b) 50
(c)30
(d) 25
(e) 60

639.98 _

Q61. V720.003 + 880.002 X ——=7

(a) 256
(b) 216
(c) 312
(d) 196
(e) 156

655.99+7

Q62. 42,003
(a) 196
(b) 316
(c) 256
(d) 412
(e) 386

% 20.97 = 520.87

Q63. 941.980 - 222*£ _9 , 102.001
24,990

(a) 807
(b) 897
(c) 717
(d) 568
(e) 348

208.01 223.998 _

Q64. 15.99 13.006
(a) 164
(b) 194
(c) 184
(d) 224
(e) 284
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Directions (65-66): Read the information carefully and answer the questions carefully.

2 TS ST & SATTYE o TETAT Y. ST T & SALC A

There are three institutions A, B, C in which some students (boys and girls) and B has 36 boys. The
difference between the number of boys in A and B equals to the difference of number of boys in A and C.
The number of boys in School C is greater than the number of boys in School A. The respective number of
girls in Schools A, B, and C are consecutive multiples of 4. The total number of students in School A is 40.
The total number of students in School C is 56.(Note: A has least number of boys)

A+ HET A, B, C & O9H % 31 (= sfiw azfrat) 8 sfiw B o 36 @ &1 A X B H =i ol ¥ea1 & a9
T HAL A T C H ASHI il AT o (AL % AL gl T C H ASHI i HEAT A A H ASHI ol G&AT F ATerH
TV T A, B 3T C H STt it 79T FEAT 4 3 FiaF Ok 2| et A H ST T o1 TeAT 40 g1 76A CH BTt
£ % HET 56 2 (A1 AF TEHT FT AT T T D)

Q65. What is the number of boys in School A?
el A H =i 6l g1 fhd=t 82

(a) 22

(b) 28

(c) 24

(d) 20

(e) 26

Q66. What are the total numbers of girls in Schools A, B, and C together?
T A, B 3 C H T 919 A1 il T AT [hasit g7

(a) 40

(b) 44

(c) 46

(d) 48

(e) 42

Q67. A and B together complete a work in 6 days. If time required to complete 90% of work by A is
equal to time required to complete 60% of work by of B, then find the time taken by A to complete
50% of the same work?

A =X B e fft 619 T 6 o1 & 907 X g1 A< A SR 90% FTH T A | 9 1T 997 B RT 60%
I QLT HIA H A AT G0 & G G, T A GIRT IV FHTH FHT 50% T FLA § A 1T THT AT (¢
(a) 7.5 days/7.5 &=
(b) 10 days/10 f&=
(c) 5 days/5 o=
(d) 6 days/6 fa=
(e) 12 days/12 fa=
20 I adda247.com/defence | www.sscadda.com www.bankersadda.com www.adda247.com



http://adda247.com/defence
http://www.sscadda.com/
http://www.bankersadda.com/
http://www.adda247.com/

Q68. A invested Rs P at rate of 5% p.a. for two years on simple interest and B invested Rs P+1000 at
rate of 10% p.a. for three years on simple interest. If the difference between interest received by A
and B is Rs 1300, then find the value of P (in Rs.)

A T YT AT U< &1 Y & forg 5% vfa a9 it 2T P w9 1 f[aer fham s B 7 aremor sarst g 19 a9
¥ forT 10% 9f o i T & P+1000 T 77 fRaer fFm 7fT A 3 B g s =aren F = v 3aw 1300 70
g, AT P &7 A7 (T99 ¥) 717 Hiforw

(a) 4000

(b) 7500

(c) 10000

(d) 5000

(e) 8000

Q69. A and B entered into a business and invested in the ratio of 3: 5 respectively. After 6 months, C
also joined with investment of three times of investment of B. At the end of a year, then total profit
was Rs 6200. Find the profit share of A?

A 3 B 7 T 9T # T 31 i e 3 : 5 % qara § Raer fFmm 6 w@a g, ¢ oft B & Raer w e
FRarer 3 arer it 81 AT T a9 o T H, T ATH 6200 FIY AqTI A FT A7 Fear 71a Hirfor?

(a) 1200 Rs /1200 &9

(b) 2000 Rs /2000 =92

(c) 3000 Rs /3000 =7

(d) 1000 Rs /1000 =7

(e) 1500 Rs/1500 =92

Q70. Rima spends 25% of his monthly salary on grocery, 10% of remaining salary on house rent
and 40% on education. If she invests remaining amount of Rs 18000 in FD, then find the monthly
salary of Rima?

QT 379 AR A9 T 25% FA 9L, A9 397 FT 10% =< FhT 9T 3% 40% fUa7 R ad {1 g1 AR T8
AT 18000 TTF THST & A9 FTA §, A7 AT 1 A1 A+ 1 Fforg?

(a) 36000 Rs / 36000 =7

(b) 48000 Rs / 48000 &9

(c) 40000 Rs / 40000 &7

(d) 54000 Rs / 54000 &9

(e) 30000 Rs / 30000 =7

Q71.1In a class there are 300 boys and 120 girls, while the number of failed boys and girls are equal.
If passed boys are 180% more than passed girls, then find the number of passed students (boys &
girls) in the class?
T FETH 300 A% 3T 120 wrefHat g, St sl wrs+ s arsfonat | dear svraw ) afe S<hiof @i, S<fiof
AsTHAT § 180% fe 3, A1 H&T | I 10T AT (A= A A fHAT) i dear s Hiforg?
(a) 380
(b) 360
(c) 329
(d) 240
(e) 400
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Q72. The length of base of a right angle triangle equal to length of a rectangle which breadth is 70
cm. If the height of the triangle is 24 cm and area of the rectangle is 1400 square cm, then find the
area of the right angle triangle (in square cm)?

T FHATIT IS % ST AT AGTS U AT At AGTs o qra< g oy 2T 70 T 81 73 Broger 7t S=rs 24
THT B ST ST 7 &6 1400 3 FHT ¢, T THHI0T ST T &6 (3 q4T §) AT Fiforw?

(a) 480

(b) 160

(c) 180

(d) 240

(e) 300

Q73. If the sum of 80% of x & 60% ofy is 540 and the sum of x and y is 775, then find ‘x’?
T X FT 80% ATy FT 60% FT T 540 g TAT X 3i¥ y FTTRT 775 g, AT "X’ ATT HIOQ?

(a) 375

(b) 400

(c) 325

(d) 450

(e) 300

Q74. An article is mark up 30% above its cost price and it sold at 10% discount. If profit received on
the article is Rs 204, then find the selling price when the same article is sold at profit of 10%?

T T &l SqF 7 o7 ¥ 30% STTEr JF I Sifha FohaT =T T80T 9 10% Fe I 9497 TT| IS 98 9= I
AT 204 T §, AT I T8 ¥ 10% ATH I d=+ 9% s gea 7rq Hiforg)

(a) 1280 Rs /1280 &9

(b) 1360 Rs / 1360 9%

(c) 1240 Rs / 1240 =77

(d) 1320 Rs / 1320 =94

(e) 1420 Rs /1420 &9

Q75. The time taken by a boat to cover 1.2D km upstream is two times of the time taken by the boat
to cover D km downstream. If the difference between upstream and downstream speed of the boat
is 6 km/hr, then find the speed of the boat in still water?
T A9 §T a1 & Tiage 1.2D 3t it o a3 e § o 1 a9, 719 g0 970 o siqgaa D ot fr g a
LA | 0T T qHT 7 A IEAT {1 T AT T T 6 Tt s €T 3 Stqaet T & o= 7 sia< 6 /=T §,
NEIEEEREICE RIS RIS IS L
(@)6
(b) 8
(c) 16
(d) 12
(e) 14
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Q76. A present age is 4/5t of B present age while age of B after 5 years will be equal to twice the
present age of C. If the sum of ages of all three is 37 years, then find the present age (in years) of A?
A F FFAT A B Y TATT A FT 4/537 & S 5 79 912 B F 0 € Fit Th9T A0 F IR F T ZA
I AT & g F7T AT 37 a9 g, T A FF Fa917 3 (T |) F7q hiforwl

(a) 15

(b) 10

(c)12

(d) 17

(e) 20

Q77. A vessel contains 112 liters mixture of milk and water in which water is 28 liters. 32 liters of
mixture taken out from the vessel and 12 liters milk added in the remaining mixture. Find quantity
of milk is what percent more of quantity of water in the resultant mixture?

T Td9 A & AT qIt &1 112 e fFsyor § S ot 28 e g1 s & 32 #fex frsyor f_ewrer o srar @
S Qv farsror &/ 12 wftex g fe o srar {1 aRorrt frsror & gor Y /s arelt i | & e wiaera e
8?

(a) 360%

(b) 260%

(c) 200%

(d) 320%

() 280%

Q78. 180 meters long train A crosses train B having length of 120 meters and running in opposite
direction in % seconds. If speed of train A is 6 /5th of the speed of train B, then find the time taken
by both trains to cross each other, when they running in same direction?

180 e (et 37 A, 120 wtex st s R R # ar W 37 B 22 e & et &1 AR g AR afa
T B FT T T 6/5a1 WY 8, AT AT o1 I TH-GHL I Ak § T 97 G997 A7 HISC, S 9 T g
e ® 991 & 82

(a) 60 sec/60 TFHE

(b) 58 sec/58 H#HE

(c) 55 sec/55 ¥HE

(d) 50 sec/50 HFHE

(e) 65 sec /65 THE

Q79. First train starts from station A at 6 am and reaches station B at 4 pm and second train started
from B at 7 am and reaches A at 3 pm. Then, find the time at which both the trains meet each other.

TEAT ol G 6 T 2T A § LE AT g ST AT 4 T €9 B I IGAAT g ML AL o g8 7 99 B LE JIdt
& AT IIEL 3 T A TN g1 AT, I THT AT < o T AT 24 Toh AL o At gl

(@) 11: 10 am /qag 11: 10 T

(b) 11: 05 am / &g 11: 05 &

(c) 11: 00 am / &g 11: 00 &

(d) 10: 55 am / &g 10: 55 &

(e) 10: 50 am / &g 10:50 T
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Q80. The average marks of Bunty, Shunty & Chunky in an exam is 90 while that of Dumpty is 20%
more marks than of Shunty. If average marks of Bunty & Chunky is 95. Find average marks of all
four.

e TOET § ST, 8T ST Fht & Sl 3 90 § STafah SFEY & 3i 91T 31 & 20% Ao gl AR G AT F
a3 95 §1 AT & G i AT hiorQl

(@) 91.5

(b)93.5

(c) 88.5

(d)9o

(e) 95

S1. Ans.(b)

Sol.

v Q T u P R

1 1 1 1

| | | | Row-2

——
=

! : : } : Row-1

S2. Ans.(e)
Sol.

Row-2

-t
T-<
- O
-
T =
-
-

L L 1 L 1 L L
1 1 1 | | | — Row-1
C E A G =1 D F

$3. Ans.(a)

Sol.
s v Q T U F R
] ] ] ] ] ] ]
I I I I I I I~ Row-2
1 L L 1 1 1 L

C E A G B D F
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S$4. Ans.(c)

Sol.

5 v Q T u P R

Row-2

——+—+—+—+—+ row
C E A G B D F
First person sits 2n to the left of 27 person

S5. Ans.(d)
Sol.
5 v Q T 1] P E
] ] ] ] ] ] ]
I I I I I I I~ Row-2

——+—+—+ Row

S6. Ans.(b)
Sol. . P> T (False) II.W <P (True)

S$7.Ans.(a)
Sol..G<T (True) II.G =R (False)

$8. Ans.(d)
Sol. . C<E (False) II.G < D (False)

$9. Ans.(d)
Sol.

L
748523971

L]

$10. Ans.(b)
Sol.

P(-) R(-)

U(-)=V(+)—Q(-) — W(+)

T(+) =Y (+)

S(+)

X()
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S$11. Ans.(c)
Sol.

P(-) R(-)

U(-)=V(+)=—2Q(-) w(+)

T(+) =—=Y(+)=X(")

s(+)

$12. Ans.(c)
Sol.

P(-) R(-)

U(-)=V(+)—Q(-) — W(+)

T(+) ==Y (+)=X(-)

S(+)

Except P all are males

$13. Ans.(c)
Sol.
Floor Flat-X Flat-Y
5 Q P
4 5 1)
3 N W
2 \ T
1 R 0
$14. Ans.(a)
Sol.
Floor Flat-X Flat-Y
5 qQ P
4 s u
3 N W
2 \i T
1 R 0
$15. Ans.(b)
Sol.
Floor Flat-X Flat-Y
5 Q P
4 5 U
3 N W
2 \ T
1 R (8]
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$16. Ans.(b)
Sol.

Floor Flat-X Flat-Y
5 Q P
4 3 u
3 N W
2 v T
1 R (8]
$17. Ans.(c)
Sol.
Floor Flat-X Flat-Y
5 Q P
4 3 u
3 N W
2 vV T
1 R (0]

All lives in flat-Y except S

$18. Ans.(e)

Sol. More than one meaningful word formed

$19. Ans.(b)
Sol.
Word Code
Happy/not Xa/pb
Bad Ng
Good Tf
Towards Ut
Smile Rd
Sorrow Lk
Sad Zh

From the given information, "smile" is coded as "rd".

$20. Ans.(e)
Sol.
Word Code
Happy/not Xa/pb
Bad Nqg
Good Tf
Towards Ut
Smile Rd
Sorrow Lk
Sad Zh

From the given information, "not" is coded as either xa or pb.
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$21. Ans.(c)
Sol.

Word Code

Happy /not Xa/pb
Bad Ng
Good Tf
Towards Ut
Smile Rd
Sorrow Lk
Sad Zh

From the given information, "bad" is coded as "nq".

$22. Ans.(a)
Sol.
Word Code
Happy/not Xa/pb
Bad Mg
Good Tf
Towards Ut
Smile BEd
Sorrow Lk
Sad Zh

Possible code

$23. Ans.(b)
Sol.

S$24. Ans.(a)
Sol.

for “happy good” is “xa tf”

Banana
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$25. Ans.(a)

Sol.
“

$26. Ans.(b)
Sol.

Magaziu

S$27. Ans.(e)
Sol.

Months Persons
January
March
April
May
July
August
September
October
December

DW= D (=

$28. Ans.(a)
Sol.

Months Persons
January
March
April
May
July
August
September
October
December

DT (W=D ||| | =
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$29. Ans.(b)
Sol.

Months

Persons

January

March

April

May

July

August

September

October

December

0T |0 = || ey | =

$30. Ans.(c)
Sol.

Months

Persons

January

March

April

May

July

August

September

October

December

O [ |0 = | | | |

$31. Ans.(d)
Sol.

Months

Persons

January

March

April

May

July

August

September

October

December

DT | =D m | [ | =

$32. Ans.(c)

Sol. Follow same logic except option (c)
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$33. Ans.(c)

Sol.C>F>G(170cm)>B>E>D>A

S$34. Ans.(d)

Sol. C>F>G(170cm)>B>E>D>A

$35. Ans.(a)

Sol.C>F>G(170cm)>B>E>D>A

$36. Ans.(c)
Sol.
s 0 M N R P Q
Mango Orange Apple
Watermelon Grapes Pineapple Banana
$37. Ans.(a)
Sol.
5 0 M N R P Q
Mango Orange Apple
Watermelon Grapes Pineapple Banana
$38. Ans.(e)
Sol.
5 0 M N R P Q
Mango Orange Apple
Watermelon Grapes Pineapple Banana
$39. Ans.(b)
Sol.
5 0 M N R P Q
Mango Orange Apple
Watermelon Grapes Pineapple Banana
$40. Ans.(e)
Sol.
5 0 M N R P Q
Mango Orange Apple
Watermelon Grapes Pineapple Banana
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S$41. Ans.(d)

Sol. Pattern of series -
361 +73=704

704 + 63=920

920 +53=1045

1045 +43=1109
1109 + 33=1136

S$42. Ans.(a)

Sol. Pattern of series -
100-17 =83
83-13=70
70-11=59
59-7=52
52-5=47

S$43. Ans.(c)

Sol. Pattern of series -
14+5=19

19 + 10 =29
29+20=49

49 + 40 =89

89 +80 =169

S44. Ans.(a)

Sol. Pattern of series -
2.5%x6=15

15x5=75

75 x 4 =300

300 x3=900

900 x 2 =1800

$45. Ans.(b)

Sol. Pattern of series -
10 x1+1=11

11 x2 + 2=24

24 x3+ 3=75

75%x4 + 4=304

304 x5 + 5=1525

$46. Ans.(a)

Sol. Pattern of series -
64 + 38 =102

102 +57 =159

159 + 76 =235
235+95=330

330 + 114 =444
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S$47. Ans.(b)
Sol.
On Thursday
Total number of orders delivered by Twiggy and Xomato together = 720 x % =144

Total number of orders delivered by Twiggy = 540 x % =108

Total number of orders delivered by Xomato = 144 — 108 = 36
Similarly, for others

Days Total number of | Total number of | Total number of
orders delivered | orders delivered | orders delivered
by Twiggy and by Twiggy by Xomato
Xomato together

Thursday 144 108 36
Friday 108 54 54
Saturday 288 243 45
Sunday 180 135 45

Total number of orders delivered by Xomato on Monday =3 x 108 = 135

Total number of orders delivered by Xomato on Monday and Tuesday together =95 x 2 =

190
Total number of orders delivered by Xomato on Tuesday = 190-135=55

$48. Ans.(e)
Sol.
On Thursday
Total number of orders delivered by Twiggy and Xomato together = 720 X % = 144

Total number of orders delivered by Twiggy = 540 x % =108

Total number of orders delivered by Xomato = 144 — 108 = 36
Similarly, for others

Days Total number of | Total number of | Total number of
orders delivered | orders delivered | orders delivered
by Twiggy and by Twiggy by Xomato
Xomato together

Thursday 144 108 36
Friday 108 54 54
Saturday 288 243 45
Sunday 180 135 45

Total number of orders delivered by Xomato on Saturday and Thursday together

=36+45 =81

Required percentage =

i08-81
108

% 100 = 25%
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$49. Ans.(a)
Sol.
On Thursday

Total number of orders delivered by Twiggy and Xomato together = 720 X % = 144

Total number of orders delivered by Twiggy = 540 x % =108

Total number of orders delivered by Xomato = 144 — 108 = 36
Similarly, for others

Days Total number of | Total number of | Total number of
orders delivered | orders delivered | orders delivered
by Twiggy and by Twiggy by Xomato
Xomato together

Thursday 144 108 36
Friday 108 54 54
Saturday 288 243 45
Sunday 180 135 45

Required difference = 135 x %— 45 ¥ %

=54 —-20=34

$50. Ans.(c)
Sol.
On Thursday

Total number of orders delivered by Twiggy and Xomato together = 720 x % = 144

Total number of orders delivered by Twiggy = 540 x % =108

Total number of orders delivered by Xomato = 144 — 108 = 36
Similarly, for others

Days Total number of | Total number of | Total number of
orders delivered | orders delivered | orders delivered
by Twiggy and by Twiggy by Xomato
Xomato together

Thursday 144 108 36
Friday 108 54 54
Saturday 288 243 45
Sunday 180 135 45

The total number of orders delivered by Twiggy and Xomato together on Monday

=288-38=250

Total number of orders delivered by Xomato on Monday and Wednesday

=80x2=160

Total number of orders delivered by Twiggy and Xomato on Wednesday is in the ratio of 1:4, respectively
We have no actual data about the total number of orders delivered by Xomato on Wednesday

So, can’t be determined.
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$51. Ans.(c)
Sol.
On Thursday
Total number of orders delivered by Twiggy and Xomato together = 720 X % = 144

Total number of orders delivered by Twiggy = 540 x % =108

Total number of orders delivered by Xomato = 144 — 108 = 36
Similarly, for others

Days Total number of | Total number of | Total number of
orders delivered | orders delivered | orders delivered
by Twiggy and by Twiggy by Xomato
Xomato together

Thursday 144 108 36
Friday 108 54 54
Saturday 288 243 45
Sunday 180 135 45

Total number of orders delivered by Twiggy on Thursday and Sunday together
=108 + 135 =243

Total number of orders delivered by Xomato on Friday and Saturday together
=54+45=99

Required ratio = 243:99=27:11

$52. Ans.(e)
Sol.
On Thursday

Total number of orders delivered by Twiggy and Xomato together = 720 X % = 144

Total number of orders delivered by Twiggy = 540 % % =108

Total number of orders delivered by Xomato = 144 — 108 = 36
Similarly, for others

Days Total number of | Total number of | Total number of
orders delivered | orders delivered | orders delivered
by Twiggy and by Twiggy by Xomato
Xomato together

Thursday 144 108 36
Friday 108 54 54
Saturday 288 243 45
Sunday 180 135 45

Total number of orders delivered by Twiggy in night shift on Thursday = 108 x % = 45

Total number of orders delivered by Xomato in night shift on Thursday = % ®x36=9

Required percentage = % X 100 = 20%

www.bankersadda.com
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S53. Ans.(b)
Sol.
For A

Cultural songs download in quarter 1 =65 % 1_53 =25

Modern songs download in quarter 1 = 65 X % = 40

Cultural songs download in quarter 2 =80 x E =30

Modern songs download in quarter 2 = 80 X E =50

For B
Cultural songs download in quarter 1 =55 X 1_51 =25

Modern songs download in quarter 1 = 55 x ﬁ =30

Cultural songs download in quarter 2 =90 x E =36

Modern songs download in quarter 2 =90 x % =54

Required ratio=30:30=1:1

S$54. Ans.(e)
Sol.
For A

Cultural songs download in quarter 1 = 65 x 1—53 =25

Modern songs download in quarter 1 = 65 X % = 40

Cultural songs download in quarter 2 = 80 x % =30

Modern songs download in quarter 2 = 80 X g =50

For B
Cultural songs download in quarter 1 = 55 x 1_51 =25

Modern songs download in quarter 1 = 55 X ﬁ = 30

Cultural songs download in quarter 2 =90 x E = 36

Modern songs download in quarter 2 = 90 % % = 54

The total songs download by C in quarter 1 = % % 30 =48

The cultural songs download by C in quarter 1 = % x 25 =20

The modern songs download by C in quarter 1 =48 - 20 = 28
Required difference = 30- 28 =2

$55. Ans.(d)

Sol.
For A

Cultural songs download in quarter 1 = 65 1—53 =25

Modern songs download in quarter 1 = 65 X % = 40
Cultural songs download in quarter 2 = 80 x % =30

Modern songs download in quarter 2 = 80 X g =50
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For B

Cultural songs download in quarter 1 =55 x 1_51 =25

Modern songs download in quarter 1 =55 X 2 =30

11

Cultural songs download in quarter 2 =90 x E =36

Modern songs download in quarter 2 = 90 X E = 54

The total songs download by A in quarter 3 = E %11 =55

The total cultural song download by A in quarter 3=24 %2 — 25 = 23

The modern song downloads by A in quarter 3 = 55-23 =32

Required percentage = E » 100 = 35.55% ~ 369

$56. Ans.(a)

Sol.
For A

Cultural songs download in quarter 1 = 65 x 1—53 =25
Modern songs download in quarter 1 = 65 X % = 40

Cultural songs download in quarter 2 = 80 x E = 30

Modern songs download in quarter 2 = 80 x g =50

ForB

Cultural songs download in quarter 1 =55 x 1—51 =25
Modern songs download in quarter 1 = 55 X ﬁ = 30
Cultural songs download in quarter 2 = 90 X E =36

Modern songs download in quarter 2 =90 x E = 54

The average modern songs download by B in quarter 1 and quarter 2

30+54
= . = 4.2

Required difference =42 — 30 = 12

$57. Ans.(e)

Sol.
For A

Cultural songs download in quarter 1 =65 X 1_53 =25

Modern songs download in quarter 1 = 65 X % = 40

Cultural songs download in quarter 2 =80 X g = 30

Modern songs download in quarter 2 = 80 X E =50

ForB
Cultural songs download in quarter 1 =55 X 1_51 =25

Modern songs download in quarter 1 =55 X ﬁ = 30

Cultural songs download in quarter 2 =90 % g = 36

Modern songs download in quarter 2 =90 X % =54
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ATQ,
X+84+X—-5=80+3
2X = 80

X =40

S58. Ans.(b)
Sol.
For A

Cultural songs download in quarter 1 =65 X 1—53 =25

Modern songs download in quarter 1 = 65 x % = 40

Cultural songs download in quarter 2 = 80 X E =30

Modern songs download in quarter 2 = 80 x g =50

ForB

Cultural songs download in quarter 1 = 55 X 1_51 =25
Modern songs download in quarter 1 = 55 X ﬁ =30
Cultural songs download in quarter 2 = 90 X E = 36

Modern songs download in quarter 2 =90 x % = 54

Required percentage = su—ﬂan = 100 = 40%

5

$59. Ans.(d)
Sol.

165
—_— = —7
T + 32 = 1697

15+32=169-7
?7=122

$60. Ans.(a)
Sol. 3 x 16+ 4 x23 =100 +7?
48 +92 =100 +?

?7=40
$61. Ans.(a)
Sol.
1600 x 22 =>
100
4%64=7
7 =256
$62. Ans.(e)
Sol.
28t w21 =521
42
656 +7 = 1042
7=1386
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$63. Ans.(a)
Sol.
825

942 -—=7+ 102
25

942 -33 =7+ 102
7 =807

S$64. Ans.(d)
Sol.

208 224
16 13
16 = 14 =7

?=224

=7

$65. Ans.(b)

Sol. No. of boys in school B = 36.

Difference of number of boys in schools A and B = Difference of boys in Schools A and C
School C has more boys than School A

So,
Difference of boys (As given condition).
B-A=C-A

B = C (for boys)

So if boys in school B = 36

Then boys in school C =36

Number of girls in school C = 56- 36 = 20

Now we know that

Girls are the consecutive multiple of 4 in schools A, B, C.
Girls in school B=16

Girls in school A = 12

In school B total number of students = boys + girls =36 + 16 = 52
Boys in school A=40-12 =28

The number of boys in School A = 28

$66. Ans.(d)

Sol. No. of boys in school B = 36.

Difference of number of boys in schools A and B = Difference of boys in Schools A and C
School C has more boys than School A

So,
Difference of boys (As given condition).
B-A=C-A

B = C (for boys)

So if boys in school B = 36

Then boys in school C = 36

Number of girls in school C = 56- 36 = 20
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Now we know that

Girls are the consecutive multiple of 4 in schools A, B, C.

Girls in school B=16

Girls in school A=12

In school B total number of students = boys + girls =36 + 16 =52
Boys in school A=40-12 =28

Required sum = 12+16+20=48

$67. Ans.(c)
Sol. Ratio of efficiency of Ato B =3 : 2 (because time required to complete 90% of work by A = time required

to complete 60% of work by of B)
So, total work =6 ®x 5 =30 unit

Required time = % ¥ 30 x % = 5 days

S68. Ans.(d)

Sol.
ATQ,
(P +1000) X = - P X —~ =1300
100 100
30p-10p = 1000
100

20P =100000
P =5000Rs

$69. Ans.(a)

Sol.

Let investment of A and B be 3x Rs & 5x Rs respectively
Profit share ratioof A Band C=36x:60x:90x=6:10:15

So, required answer = 6200 X i = 1200 Rs

$70. Ans.(b)
Sol.

Let income of Rima = 100x
100% x —= x 22720 _ 15000
100

100
x =480
So, monthly salary of Rima = 48000 Rs

S$71. Ans.(a)

Sol.

Let number of failed boys or girls = n
ATQ,

300-n _ 280

120—mn =E

1500 -5n=1680 - 14n

9x =180

x=20

Required answer =300-20+ 120 - 20 = 380
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$72. Ans.(d)

Sol. Let length of rectangle or length of base of right angle triangle be x’ cm

ATQ, 70x = 1400
x=20
Required area = %)-( 24 ® 20 = 240 square cm

$73. Ans.(a)
Sol.

2 o540

5 5

4% + 3y = 2700 (i)
Andx+y=775

From (i) and (ii} we get
x =375 & y =400

S$74. Ans.(d)
Sol.
Let cost price of the article = 100x Rs

So, marked price of the article = 100x x % = 130xRs

Selling price of the article = 130x x % =117x

ATQ, 117x-100x =204
x=12

Required selling price = % =1320Rs

$75. Ans.(d)

Sol. Let speed of boat in still water and speed of stream be X’ km/hr & ‘y’ km/hr respectively

12D D
22X —

ATQ -=2X -

2x-2y=12x+ 1.2y

0.8x=3.2y

X:y=4:1

letx=4a&y=a

downstream speed = 5a

And upstream speed = 3a

So,2a=6

a=3

Speed of the boat in still water=x = 4a= 12 km/hr

$76. Ans.(c)

Sol.

Let ages of A, B, Cbe §, A, P years respectively.
A+5=2P

s_3

A 5
S+A+P=37

4x + 5x + 212 = 37
x=3

Presentage of A=4x =4 X 3 =12 years
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$77. Ans.(b)
Sol.

Ratio of milk to water in the initial mixture = (112-28):28=3:1

uantity of milk in the resultant mixture = - - x = = iters
ity of milk in th 1 i 112-28)-32 X >+ 12=721i

Quantity of water in the resultant mixture = 28 - 32 % i = 20 liters

Required % = == X 100 = 260%
$78. Ans.(a)
Sol.

Let speed of train A be 6x m/sec
Then speed of train B=5x m/sec
ATQ,

(6X+ SXJ _ 120;—}190

11

x=5
: . 120+180
Required time==
20-25

= 60 seconds

$79. Ans.(c)

Sol.

Time taken by first train = 10 hr.
Time taken by second train = 8 hr.

Let distance between these two stations be 40x km
Then speed of first train= 4 x km/h

Speed of second train=5 x km/h
In 1 h, distance travelled by first train= 4x km
-~ total time taken by both trains to meet after 6 am

:1+?=5]1r.

g0, both trains will meet at 11: 00 am

$80. Ans.(a)

Sol.

Marks of Shunty =90 X 3 — 95 % 2 = 80
Marks of Dumpty = % % 80 =96

. S5x2+B0+96 _ 366
Required average = — =5 - 91.5
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